32 P A: IP Planning
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1 ~=a7 B 500172, 21,21, 64/26(mask 255. 255. 255. 192),
1.1 Gateway(z . RB e/ o+ ): 172.21.21.65(* v - ¥ * [P)
1.2 60 5 PCenIP & = 5 172.21.21.66 & 172.21.21.125
mask:255. 255. 255. 192, Gateway:172.21. 21.65
1.3 &% 1 IP: 172.21.21.126
1.4 gt (Network ID):172.21.21.64/26
1.5 R4 IP:172.21.21.127/26

2 Ao Cr o E172.21.21.128/26(mask 255. 255. 255.192)
2.1 Gateway( K &= RCen/im +): 172.21.21.129/26(* &7 - B+ * IP)
2.2 39 o PCen [Pk 2 5 172.21.21.130 = 172.21.21.168
mask:255. 255. 255. 192, Gateway:172.21.21.129
2.3 WF 22 W IP: 172.21.21.169 % 172.21.21.190



2.4 g% (Network 1D):172.21.21.128/26
2.5 R4k IP:172.21.21.191/26

Ao @ A R E172.21021.192/27(mask 255, 255. 255. 224)
3.1 Gateway(Gk &= RA en/i @ F): 172.21.21.222/27C* & ts— ®+# * IP)
3.2 20 s PCen [Pk 2 5 172.21.21.193 = 172.21.21.212
mask:255. 255. 255. 224, Gateway:172.21. 21. 222
3.3 ¥ 9 IP: 172.21.21.213 & 172.21.21. 221
3.4 g s (Network 1D):172.21.21.192/27
3.5 Rk IP:172.21.21.223/27

oo @ Ho $E0172.21.21.32/27(mask 255. 255. 255. 224)
4.1 Gateway(K = RH e/ +): 172.21.21.62/27(* $is - B+ * [P)
4.2 16 5 PCen [P = 5 172.21.21.33 & 172.21.21. 48
mask:255. 255. 255. 224, Gateway:172.21.21. 62
4.3 %% 13 W IP: 172.21.21.49 = 172.21.21.61
4.4 g% (Network ID):172.21.21.32/27
4.5 R¥#* IP:172.21.21.63/27

Server farm: #f£<:172.21.21.0/28(mask 255. 255. 255. 240)
5.1 Gateway(k “RH =/ & +): 172.21.21.1/28(* & - B+ * [P)
5.2 10 ¢ PCen 1P = 5 172.21.21.2 % 172.21.21. 11
mask:255. 255. 255. 240, Gateway:172.21.21.1
5.3 ¥ 3 IP: 172.21.21.12 & 172.21.21. 14
5.4 .~ (Network ID):172.21.21.0/28
5.0 B 1P:172.21.21.15/27

% Router B * 172.21.21.240~255, £ *» 4 < - & i [P ¥ 143 4% o
6.1 H&>A: 1720 21.21.254/30 €-> 172.21.21. 253/30
et 7§ (Network ID):172.21. 21. 252/30
6.2 H&->B: 172.21.21. 250730 €-> 172.21.21.249/30
et 75 (Network 1D):172.21. 21. 248/30
6.3 H&>C: 172.21.21. 246/30 €-> 172.21.21. 245/30
et 75 (Network 1D):172.21. 21. 244/30
6.4 A<->B: 172.21.21.242/30 €-> 172.21.21.241/30
et 7§ (Network ID):172.21. 21.240/30

g 1P
7.1 172.21.21.16/28, 7 172. 21. 21. 16~31
7.2 172.21.21.224/28, 7 172. 21. 21. 224~239



42 P B: IP Planning

1. A school setups a gateway router RG to connect to internet which is simplified
and denoted by net A and router RR.

2. Net B is a DMZ. Hosts in DMZ use public IP.
Net A: 101.101.101.0/24, Net B: 102.102.102.0/24(IP. 193~254), Net G:
100. 255. 255. 252/30

4. Nets C,D,E and F are intranet of the school. Hosts in intranet use private
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1 Net A: gz (Network ID)= 101.101.101.0/24
1.1 Gateway(3k & RR ™ * /& +): 101.101.101. 254/24
1.2 PC# * em Pk = 5 101.101.101.1 = 101.101.101. 253
mask:255. 255. 255. 0, Gateway:101.101. 101. 254
1.3 R4&* [P:101.101.101. 255/24

2 Net B: %8t 8 (Network ID)= 102.102.102.0/24
2.1 Gateway(X &RG + 7T > eafi e + ): 102.102. 102. 254/24
2.2 PC¥ * en [Pk =& 102.102.102. 1 = 102. 102. 102. 253
mask:255. 253. 255. 0, Gateway:102.102. 102. 254
2.3 Rk 1P:102.102.102. 255/24

3 Net G: 8t (Network ID)= 100. 255. 255. 252/30
3.1 RGE->RR: 100. 255. 255. 253/30 €-> 100. 255. 255. 254/30
3.2 TPk %®=RG% RRAPZ ernfim +, 3 B [P+ 3 3% -



Net C ~ Net F 3%i€ * private IP, private [P3 =z~g#%*, 254 10.x x x/8,
172.16. x. x~172.31. x. x/16, % 192.168.x.x/24, ¥ fic & % ¢ & B chmask K~ fie;id § 5 *
#o¢ - Fprivate [P ¥, 3 - = fB3* T S - FHRET TR R o YRS
dpar* 2 P e

4 Net C: 8 % (Network ID)= 172.16.2.0/23 (¥ * 1P # 2’-2=510, 7 gateway)
4.1 Gateway(ik &RG =T > enfiam +): 172.16.3.254/23
4.2 PC# * en P& = 5 172.16.2.1 2 172.16. 3. 253
mask:255. 255. 254. 0, Gateway:172.16. 3. 254
4.3 R¥* IP:172.16.3.255/24

5 Net D: itz (Network ID)= 192.168.40.128/25 (¥ * [P # 2'-2=126, 7 gateway)
5.1 Gateway(k ZRin -+ > e/ a +): 192.168.40.1/25
5.2 PC# * en [P % 5 192.168.40.2 = 192. 168. 40. 126
mask:255. 255. 255. 128, Gateway:192. 168. 40. 1
5.3 B #* 1P:192.168.40.127/25

6 Net E: 8t (Network ID)= 10.5.1.0/24 (¥ * 1P #c 2°-2=254, 7 gateway)
6.1 Gateway(% 2. Rin =T = 4 & + ): 10.5.1.254/24
6.2 PC¥ * en]P2x =% 10.5.1.1 % 10.5.1. 253
mask:255. 255. 255. 0, Gateway:10.5.1.254
6.3 B4+ 1P:10.5.1.255/24

T Net F: %8t 8 (Network ID)= 172.31. 255. 252/30
7.1 RG&E->Rin: 172.31.255.253/30 €= 172.31. 255. 254/30
7.2 TPX%RG% Rin4pZ sensig +, 3 @ [P#F 3 3 -



